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N.B.: (1) Question No.l is compulsory. b %
(2) Outofremaining attemptany three. 7 {{SG
(3) Assume & mention suitable data wherever required, & r{{_, y
(4) Figures to right indicates full marks. R );;_-_'*-
1. Solve any four :- o @ wﬁ a0
(a) State the advantages of digital communication over analcg mﬁﬁu ication,
Justify each point. { . _.1;5,
(b) Define the following terms. - : | VV’
(i) Noise figure (ii) Noise tﬁmparamrﬂ | n:@ g
(iii) Noise bandwidth (iv) Noise voltage . @Modulatmn
(c¢) Compare pulse code modulation and delta rnndulaﬁaﬁ:
(d) Explain in short pre-emphasis and De- amﬁmﬂ%&; .
(¢) What is BPSK signal. Draw the BPSK S?Nfg}me following binary signal
10111010. -\-_
2. (a) Define signal to noise ratio. Expl"aﬁt tﬁe effect of cascade connectionona 10
signal to noise ratio. An mp"_ - with 10dB noise figure and 4 dB power
gain is cascaded wnh*tiemﬁ’éﬁmp ifier which has 2 10dB power gain. What
is overall noise figure andpa}tftr gain,
(b) State and prove _ﬂle‘ﬁf}gg’ing properties of Fourier transform with example 10
(i) Time sh:.ﬂmgj'\r (ii) Convolution in time domain
3. (a) Anamplit 'ﬁ;ﬁﬂdulated waveform has a formx(0)y=[10 (1+ 0.6 cos 2000 : 10

Sem-I. (1T) CB&S 18 0S11¢
ﬁ)’ir’ld’ﬂ}ej qufﬁhalacjzg .Dl“g,l;ﬂl-;\,f’ Qv
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t+ t}i ms 4000 t) cos 20000 = t)]

'__[11 Qukﬂfﬂ'hihﬂ amplitude spectrum of X(t).
E%;} Find the power spectral of each spectral component including carrier

_L;H)‘Fmd the total power and sideband power

_{fv} What is the modulation index
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What are the limitations of TRF receiver. Explain how these limitations arc 10

avoided using superheterodyne receiver.

With the help of neat circuit diagram and phasor diagram explain the wark&i_p Q0

of Foster Seelay discriminator. "4
Ca

What is multiplexing in communication system. Draw and explain i bricf — 10

the transmitter and receiver of FDM. ﬁfj :

State and prove sampling theorem for low pass band limited slgﬁal ) 10
Draw the block diagram of PWM generator. Explain | the wurkjﬁjgwmr 10
waveforms at the output of each block. 1;3:;

| &
Explain slope overload error and hunting errorin Dehg.{gbdulatmn Derive 10
the condition to avoid slope overload distertion. 'V*

Explain the generation and detection of F SK stﬁal 10
_
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